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Pon gian hoa biéu thic sé mii (2 bién)

Tén:

HD 5 DD x5, (1Y)

6X6 « y6(x4 ><);(—12))(—3»)

3,6 x y3(x(—1) ><y(—l))z
I x DY

T X D2 Xy

53D x D (6 x YD

Ngay thang: Diém:

07 x YD) x 2D
1% 2 D)D)

450 x O x D

75 % D x DY

61 x IS x 12y

4D x DS x 5D

www.snowmath.com



https://www.snowmath.com

w0 &

Pon gian hoa biéu thic sé mii (2 bién)

Tén:

HD 5 DD x5, (1Y)
22

y

6x6 % y6(x4 ><)}(—12))(—3)
6y42

x0

30 x P (D x 7y
X (DL DY
3x8y

4

T X D2 Xy

7x1 Oy22

53D x D (6 x YD

%
7

Ngay thang: Diém:

07 x YD (D) x 2D
% 2 2)D)

3

450 x O x D
4

xlOyIO

7S x y5 (x(—l) y y(—3))4
Tx
37

65 x y (0 x 12

6x15

y39

4D x DS x 5D
4

X0 y7

www.snowmath.com



https://www.snowmath.com

